

$$1,6 \cdot \frac{15,5 + 1,43(4,8 + 13,35)}{56} =$$

$$1,76 \cdot \frac{8 + 1,43(3,6 + 9,55)}{56} =$$

$$\begin{array}{r} 25,95 \\ 15,5 \\ \hline 47,45 \cdot 1,6 \\ \hline 47,45 \\ 24870 \\ \hline 66320 \\ 1 \end{array}$$

$$\begin{array}{r} 13,15 \cdot 1,43 \\ \hline 18,8 \\ 26,8 \cdot 1,76 \\ \hline 268 \end{array}$$

$$\begin{array}{r} 1876 \\ 1608 \\ \hline 47168 \end{array}$$

SN 175/968

$$\begin{array}{r} 1002 \cdot 1,27 \\ \hline 1271 \\ 2004 \\ 2004 \\ \hline 452 \\ 452 \end{array}$$

$$\begin{array}{r} 98 \cdot 1,43 \\ \hline 14,01 \cdot 1,7 \end{array}$$